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Note:

(a) All questions are compulsory.

() The candidate is allowed to make Suitable numeric assumptions whe‘?:jétfgr ’rgéjz;;'red

Jor solving problems

(¢) Calculator is not allowed
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Marks

Q1

(a) Concert the hexadecimal number F3A7C2 to, b'ihary::aniiroétal
(b) Convert the following numbers in to decimal
A 45 B ) %

i 1110101.11 A,
(¢) Perform the subtraction with the following unsigned numbers
by taking 2’s complement of the;-spij:t_ﬁﬁh@ﬂd:
L 11010- 10000  *els%

ii.  100-110000 %=

CO-1

Q2

(a) Simplify the following Bbolég‘ih\‘:ﬁxpressions to a minimum
number of literals R
i Xy’ sy

i, (b ty
(b) Simplify the following Boolean functions using four-variable

maps: =
o F(A, B; C, D) = 3(4, 6, 7,415)

)
)

Q3,

. “E(w,x,y,7)=3(2, 3, 12, 13, 14, 15)

CO-1

2.5

2.5

(a) Design’y combinational circuit with three inputs, x,y, and z, and

#~. thiee giitputs, A, B, and C. When the binary input is 0, 1, 2, or

& ?’)';-.jfi’é binary output is one greater than the input. When the

. binary input is 4, 5, 6, or 7, the binary output is one less than the
“ input.

(b) A majority function is generated in a combinational circuit

when the output is equal to 1 if the input variables have more

I’s than 0’s. The output is 0 otherwise. Design a 3-input

s

majority function. S |
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